
rir"

ri

I

L

It,rllrlIi,irll
rJ, li
l,itllil
fl,
t1

ri

;

it
,1,

I

;
riili
lt

ti

l,
il;
il

I

il

I
I

ij
I

I

I
I

{
I
l,

il,

I

tlirilil
,il;

lrt I 
,

l

'il

l,

MATHEMATICS PLE PAST PAPER REVISION WORKBOOK BY EXCEL EDUCATIONiL SERVICE; TEL: Q/$t 55T1

l

I
i{

Pupil

0 3

Sector SchoollMmDistrictProvince/citym
Sur nome

Other nomes

t,

I Subtroct, 867,523 - 37L1,238 (2 morks) 2 Test whether 298 is divisible by 9
(2 morks)

3 If a * b = 20,qnd b = B, find the
volue of a (2 morks)

rl Wrife in figunes: (2 morks)
Four hundned forty five million, five
hundred eighty four thousond ond four
hundred nine.

5 Round off 1112928.92 to the neorest
whole number. (2 morks)

6 Whot is the ploce volue of 7 in the
figur-e 75 325 q6P (2 morks)

7 Wonkout' 3 x (15. + 5) - 7 (2 morks)
1

\ \
\

!

'8 How mony millilitres of woter does o
bottle of five lifres hove? (2 morks)
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q Find the volue of -3o - tlb if o = 2 ond

b = 
-3 (2 morks)

t0 A**n" i^ *;ing order: (2 mqrks)

8,8, o.7s , fr

lt Solve for x the following equotion:

x - 7 =' -2x'- L' (2 morks)

t2 o'72 x o'24 (2 marks)Workout, L4B

r3 @ (2morks)

2(a-3)+4b-2(a-b-3)+5
Ir{ The intenior ongle of o regulon polygon

is lLlS'. Find the size of the exterion

ongle of the polygon. (2 morks)

t5 Find the oreo of o regulor Pentogon
whose side is ticrn ond opothem is 2cm.

(2 morks)

r6 Colculofe, 3i+2? (2 morks)

t7 The cir.ournfererice of o circle is 3ltlcm.

Find its diqme*er in cm. (use lr = 3]tl)
(2 morks)

r8 If two numbers hove c differer.ce of
3Bl ond o quotien* of t1. Determine

these numbers. (2 morks)
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H A mon'q.step is 80cm. How mony such

steps con he moke in o distonce of
LlOdm? (2 morks)

20 Shore 170 notebooks omong 9 pupils.

Give your onswer os o mixed froction.
(2 monks)

2t A moforcyclist rides lSkm in one houn.

How mony hours does he tqke to ride
t{Skm? (2 mqrks)

22 Find the qneo of o circle whose

diometer is 28m. (2 monks)

23 Given thot the totol number of pupils in

P.5 closs is 32 qnd the difference
between the nurnben of boys qnd thot
of girls in the closs is 10.

o. Colculote the number of boys in the

closs. (l mqnk)

o. Colculote the numben of girls in the

closs. (l monk)

2q C"l*,|"t. h't. of 280,000 (2 morks)

25 Doro hos lO,OO0Frw. She took i} of thot
money to buy shoes. Colculote the sum

of money she spent on shoes. (2 morks)

26 A mon's solory increosed in the rotio 2'3

If he wos eorning /O,OOOFnw. Cclculote

his new solory. (3 morks)
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A *otnon deposited 600,000Frw in the

bonk for 2 yeor's of on interest rote of
HZ per yeor.

o. Colculote the interest she got ofter
the second yeor. (2 morks)

b. Colculote the totol omount she got

ofter 2 yeons.

The cost of o'science book ond o bog is

75,OO0Frw oltogether. The book costs

l5,0O0Frw more thon ihe bog. Find'

o. The cost of the bog.

b. The cost of the book. (2 morks)

27

Th" o""o of o rectongle is 15 squore

decimetres ond its length is 50

centimetres. Find the width of the

rectongle. Give Your onswer in

centimetres. (3 morks)

m"r" tt#Alor polYgon which hos 12

b. Whot is the intenion ongle of o regulor

octogon? (l mork)

PoYing the insuronce of

the old people in their cell in 3 to t'l to 5 ponts nespectively' Monu contnibuted

L{0,000Frw.

o. How much did Ally contnibufe? (3 mks)

b. How much did Eden contribute? (3 mks)

c. Colculote the totol contribution of the three members. (l mk)

SfnVrceS TEL; 0788 6$1 381 KIOALI-RWAI'IDA Pogc { of 158
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i

i

In o confenence holl, I of seots one filled by women, $ bv men ond * by children.

o. Whot fnoction of the conference hqll is occupied? (2 morks) t

b. Whot froction of the conference holl is not occupied? (l mork)

c. How mony people ore in the conference holl if the whole conference room contoins
q000 seots? (l monk)

d. Colculofe the number of men who ore pnesdnt. (l mork)

e. Colculqte the numben of women who ore present. (l mork)

f. Colcirlote the numben of children who ore present. (l mork)

33 o. Whot is the volume of o cylinder which is tlcm high ond whose cinculor foce hos o
diqmeter of .2cm? (2 monks)

b. Thnee friends Lorino, Lonigo ond Lono contributed to stont o business. Lorino noid f,of the totol contribution, Lorigo contributed f of the totol contribution.
o. Whot froction did Lono contribute? " (2 monks)

b.If Lono contributed 60,000Frw, whcrt wos their totol contribution? (3 morks)
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Morks 50 30 Ll0 12 80 70

Frequ6vrcy 2 5 I t0 6 Ll

The toble below shows how

o. Complete the toble below with the qbove

informotion (th" first row wos completed

for you). (3 morks)

Morks(x) Frequency(f)

30 5

Lx=---- u f=----

(P.t) closs scored in English test out of 100.

! U. Ho* mony pupils ore in P.t{? (l mork)

c, Find the highest morks in the closs.

(l mk)

d. Whot is the mork obtoined bY monY

sfudents? (l mork)

e. How mony pupils obtoined the lowest

mork? (l mork)

3Ll

o cent.e B in 3 hours of o sPeed of

20km/h ond he took I hour to retunn through the some distonce.

o. Colculote the distonce from A to B. (2 morks)

b. colculote the totol distonce of the whole jour.ney. (l mork)

c. Colculote the totol time used to cover the whole journey. (2 morks)

d. Colculote the ovenoge speed used for the whole jounney. (Wnite the snswer in m/s)

(2 mor ks)

;
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